Borgstrom 1968

1)  
Phreab 
each am ballach.
 
kick.past    horse   the       boy

 “A horse kicked the boy.”


Bhreab

2)  Phreab each  a’ bhallaich.
 kick.past    horse  the     boy.gen

   verb      noun  art     noun

 “The boy’s horse kicked.”
Note: Ex. of how sentence 1’s meaning changes when the case of “boy” is changed.
3)   Chuir    i    bhuaithe  a’ bhucaid.
put.past  she  from.3sf  the      bucket
 “She put the bucket away from her.”
Demonstrating the different positions the nominative noun or noun phrase can take in the sentence.
4) eadar an t-Oban agus Barraidh
between  the    Oban        and         Barra

 “between Oban and Barra”

Showing that “eadar” governs the nominative case.

5) latha  gun   ghrian
  day     without      sun
 “a day without sun”

Showing that “gun” also governs the nominative case.

6) Am màireach aig   sia uairean  bidh waggon   a’     dol    sìos.

 the       morrow      at       six    hours.dat   be.fut      wagon       at     going.dat  down
 “Tomorrow at six o’ clock a wagon will be going down.”
Showing how a verb in the independent mood generally begins a sentence but may be preceded by an adverb phrase.
Original has air not aig
7) biadh a’   choin
   food    the   dog.gen

 “the dog’s food”
Showing that a noun in the genitive is always governed by an antecedant.

8) Tha  a  bhò   ag      ithe    an   fheòir.
   be   the   cow      at          eating     the  grass.gen
 “The cow is eating the grass.”
Showing that a verbal noun governs its object in the genitive.
AZGPS wouldn’t use genitive

9) Tha  a  bhò   ag  ithe  feur.
   be   the   cow      at    eating  grass
 “The cow is eating grass.”

Showing that if the object of a verbal noun is indefinite, it may be in the nominative case (although the genitive case is equally correct) 
10)  Bha  iad   a’ caitheamh na cuirme  ‘s    na cuideachd.

be.past  they    at    enjoying.dat     the     feast      and    the     company

 “They were enjoying the feast and the company.”
Note: Showing that two nouns in the genitive may be connected by a conjunction without repetition of the antecedent.
11)  biadh   a  dh’itheas an   cù
  food     that       eat.rel       the    dog
 “food that the dog will eat”
Showing that a verb in the relative clause is governed by an antecedent, which may be a noun.
12)  Cò    thuigeas   sin?
 who  understand.rel   that

 “Who will understand that?”

Showing that a verb in the relative mood is governed by an antecedent, which may be an interrogative.
13) ‘S  ann  am màireach  a   thilleas   e.
cop     in      the     morrow       that   return.rel   he
 “It is tomorrow that he will return.”
Showing that a verb in the relative mood is governed by an antecedent, which may be a word emphasized by being placed at the head of the sentence preceded only by “is” or “is ann.”
14) ‘nuair  a  thàinig  esan  dhachaidh ‘s    a  shuidh iad   mu  ‘n  bhord
  when   that come.past he.emph       to.home      and  that  sit.past    they  about  the   table.dat
 “when he came home and they sat around the table”
Showing that two verbs in the relative may be connected by a conjunction (“agus” or “no”) without repetition of the antecedent.
AZSG prefers no a in second clause
15)  Sheas  mi   air   cas   a’  ghille.
tread.past    I       on   foot.dat  the   boy.gen
 “I trod on the boy’s foot.”

Demonstrating that, although normally a noun following a conjugatable preposition is in the dative, it remains in the nominative if the noun itself is followed by another noun in the genitive with an article.
16) Sheas   mi   air     a   chois.

tread.past    I       on        his    foot.dat

 “I trod on his foot.”

Showing that without the genitive noun phrase “a’ ghille,” the word “cas” of sentence 15 would be in the dative case.
17) an t-àite  ris   an   can  iad Brèibhig
the    place     to    which   say    they    Brevig
 “the place to which they say [lit. which they call] Brevig”

Showing that a verb in the dependent mood is always governed by a proclitic particle, conjunction, etc, here a preposition (“ris”) followed by the relative pronoun (“an.”)
18) *ochd  no  naoi taighean
    eight     or     nine      houses

 “eight or nine houses”
Showing that the article used with cardinal numbers should always be present except when the cardinal number, acting as an adjective, has a directly following noun, in which case it becomes similar to a noun prefix.
AZSGP: Finds grammatical
19) a h-ochd  no   a  naoi   dè  thaighean

the      eight     or    the   nine      of       houses.dat

 “the eight or nine houses”
The correct form of sentence 18.
AZSGP finds totally UNGRAMMATICAL.
20) [Cha do bhuail] mi  [am balach].
    strike.past.neg          I       the       boy

 “I did not strike the boy.”
Gives this sentence as an example of a three-word sentence, suggesting that articles and tense indicators may be treated as prefixes attached to the word they govern, because such words are inseparable by other words.

21) Tha a’ chaileag beag.
   be   the        girl         little

 “The girl is little.”

Showing that, unlike adjectives which form part of the noun phrase of the subject, predicative adjectives cannot be considered part of the same word as the noun they modify, as indicated by the fact that they do not match that noun in number, gender, or case.

